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BE14-2 The Colson Company issued $300,000 of 10% bonds on January 1, 2014.
The bonds are due January 1, 2019, with interest payable each July 1 and January

1. The bonds are issued at face value. Prepare Colson’s journal

entries for (a) the January issuance, (b) the July 1 interest payment, and (c) the

December 31 adjusting entry.

CaSh .. 300,000

@ Bonds Payable.........cccccovvniiinnnnn. 300,000
Interest EXPENSE......cccevvvveeiiiiii i 15,000

®) Cash ($300,000 X 10% X 6/12)...... 15,000
Interest EXPENSE......cccevvvvveeeeeiiiiieeee i 15,000

©) Interest Payable............c.ccoceeveenn. 15,000

BE14-3 Assume the bonds in BE14-2 were issued at 98. Prepare the journal
entries for (a) January 1, (b) July 1, and (c) December 31. Assume The Colson
Company records straight-line amortization semiannually.

Cash ($300,000 X 98%0) ......cccevvrrrrrrrrenrrerierieeenns 294,000
(@) | Discount on Bonds Payable..........c.ccccccvevvenne. 6,000
Bonds Payable...........ccccooeiiiiiic 300,000
Interest EXPENSE......ccvvvviiiiiiiiie e 15,600
Discount on Bonds Payable
®) ($6,000 X 1/10 = $600)........oocovrrrren, 600
Cash ($300,000 X 10% X 6/12)................ 15,000
Interest EXPENSE......c.vvveiiiiiii e 15,600
Discount on Bonds Payable
& ($6,000 X 1/10 = $600) ......cecvrrerrerrreenens 600
Interest Payable ..o, 15,000
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BE14-4 Assume the bonds in BE14-2 were issued at 103. Prepare the journal

entries for (a) January 1, (b) July 1, and (c) December 31. Assume The Colson
Company records straight-line amortization semiannually.

Cash ($300,000 X 103%) ......cccoveververennnn. 309,000
(@) Bonds Payable............cccoovivennnn. 300,000
Premium on Bonds Payable............. 9,000
Interest EXPENSe......cccvvvveeiiiiie e 14,100
Premium on Bonds Payable
(b) 900
($9,000 X 1/10 = $900) ......cecovrrrrrrareannnn,
Cash ($300,000 X 10% X 6/12)...... 15,000
INnterest EXPENSE.......ccovvvvvvereeeiiiiieee e, 14,100
Premium on Bonds Payable
() 900
($9,000 X 1/10 = $900) .....cvvverrererireenes
Interest Payable ..........cccccoeeveennne. 15,000
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BE14-5 Devers Corporation issued $400,000 of 6% bonds on May 1, 2014. The
bonds were dated January 1,2014, and mature January 1, 2017, with interest payable
July 1 and January 1. The bonds were issued at face value plus accrued interest.
Prepare Devers’s journal entries for (a) the May 1 issuance, (b) the July 1 interest

payment, and (c) the December 31 adjusting entry.

Cash 408,000
(@) Bonds Payable.........c.ccocoviiiiiiiii 400,000
Interest Payable ($400,000 X 6% X 4/12)......... 8,000
INterest EXPENSE......cvvvi i 4,000
(b) | Interest Payable 8,000
Cash ($400,000 X 6% X 6/12).......cccvevverueruennn 12,000
INtEreSt EXPENSE.....ceeiiiiiieee et 12,000
c Interest Payable ..., 12,000

BE14-9 At December 31, 2014, Hyasaki Corporation has the following account

balances:

Bonds payable, due January 1, 2023 $2,000,000
Discount on bonds payable 88,000

Interest payable 80,000

Show how the above accounts should be presented on the December 31, 2014,

balance sheet, including the proper classifications.

Current liabilities

Bond Interest Payable .........c.ccccooviiiiiiiiiiien $ 80,000
Long-term liabilities
Bonds Payable, due January 1, 2023 ...........c..ccoc..... $2,000,000
Less: Discount on Bonds Payable...........c..ccccevenee. 88,000
$1,912,000
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BE14-12 Coldwell, Inc. issued a $100,000, 4-year, 10% note at face value to Flint Hills Bank
on January 1,2014, and received $100,000 cash. The note requires annual interest payments
each December 31. Prepare Coldwell’s journal entries to record (a) the issuance of the note and
(b) the December 31 interest payment.

CASN o 100,000
(a)
Notes Payable..........ccccceoveiiiiiiciieccie, 100,000
) INtEreSt EXPENSE.....cvviiiiiviiieeeiiiieee e e 10,000
Cash ($100,000 X 109%0).......cccccvverrrereennenn 10,000

Presented below are two independent situations.

1. On January 1, 2014, Simon Company issued $200,000 of 9%, 10-year
bonds at par. Interest is payable quarterly on April 1, July 1, October 1, and
January 1.

2. 0n June 1, 2014, Garfunkel Company issued $100,000 of 12%, 10-year
bonds dated January 1 at par plus accrued interest. Interest is payable
semiannually on July 1 and January 1.

Instructions

For each of these two independent situations, prepare journal entries to record
the following.

(a) The issuance of the bonds.

(b) The payment of interest on July 1.

(c) The accrual of interest on December 31.

Simon Company:
(@ |1/1/14 (OF: ] IR 200,000

Bonds Payable.................... 200,000
(b) | 7/1/14 Interest EXPeNnSe........cccoevvvvvvenenee. 4,500

($200,000 X 9% X 3/12)

Cash ..o, 4,500
(c) |12/31/14 | Interest EXpense........ccccevvrvenene 4,500

Interest Payable .................. 4,500
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Garfunkle Company:
(@) [ 6/1/14 | Cash...cccceiiiiieiee e 105,000
Bonds Payable ..............cc........ 100,000
Interest Payable....................... 5,000

($100,000 X 12% X 5/12)

(b) | 7/1/14 | Interest EXPENSE .......cccccvvevvvecveevnnne. 1,000
Interest payable 5,000
Cash ..coveeeceecece e 6,000

($100,000 X 12% X 6/12)

(c) | 12/31/ | Interest EXPENSe.......ccccoovevverveevnnnn. 6,000

Interest Payable..................... 6,000
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Celine Dion Company issued $600,000 (Par value 100) of 10%, 20-year bonds on January 1, 2014,
at 102. Interest is payable semiannually on July 1 and January 1. Dion Company uses the straight-
line method of amortization for bond premium or discount.

Instructions Prepare the journal entries to record the following.

(a) The issuance of the bonds

(b) The payment of interest and the related amortization on July 1, 2014.

(c) The accrual of interest and the related amortization on December 31, 2014.

(@) [1/1/14 | Cash ($600,000 X 102%) .....oovrvvveerrennns 612,000

Bonds Payable.............c.cccueeueee. 600,000

Premium on Bonds

Payable........ccccooveevieeieece e 12,000
(b) | 7/1/14 Interest EXPense.......ccccveeveveeeeiieeeennen. 29,700
Premium on Bonds Payable ................. 300

($12,000 = 40)

(O 1) o F 30,000
($600,000 X 10% X 6/12)
(c) |12/31/14 | Interest EXPeNnse.........ccccevvvevvecvecnnenne. 29,700
Premium on Bonds Payable ................. 300
Interest Payable..............c........... 30,000
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